

SOME REMARKS FOR λ -SPIRALLIKE FUNCTION OF COMPLEX ORDER AT THE BOUNDARY OF THE UNIT DISC

TUĞBA AKYEL

ABSTRACT. We consider a different version of Schwarz Lemma for λ -spirallike function of complex order at the boundary of the unit disc D . We estimate the modulus of the angular derivative of the function $\frac{zf'(z)}{f(z)}$ from below for λ -spirallike function $f(z)$ of complex order at the boundary of the unit disc D by taking into account the zeros of the function $f(z) - z$ which are different from zero. We also estimate the same function with the second derivatives of the function f at the points $z = 0$ and $z = z_0 \neq 0$. We show the sharpness of these estimates and present examples.

1. Introduction

Let \mathcal{A} denote the class of functions in the form

$$f(z) = z + b_2z^2 + b_3z^3 + \dots$$

which are holomorphic in the unit disc D . Let \mathcal{M} denote the class of bounded holomorphic functions $p(z)$ in D , satisfying the condition $p(0) = 0$ and $|p(z)| \leq |z|$ for $z \in D$. For a function belonging to the class \mathcal{A} , we say that $f(z)$ is a λ -spirallike function of complex order in D if and only if

$$(1) \quad \Re \left(\frac{1}{c \cos \lambda} \left[e^{i\lambda} \left(\frac{zf'(z)}{f(z)} - 1 \right) + c \cos \lambda \right] \right) > 0$$

for some real λ , $|\lambda| < \frac{\pi}{2}$, $c \neq 0$, complex. We denote this class by $\mathcal{N}(\lambda)$. It has been introduced and studied by Al-Oboudi and Haidan [2].

It is easy to show that $f(z) \in \mathcal{N}(\lambda)$ if and only if there is a $p \in \mathcal{M}$ such that

$$(2) \quad \frac{1}{\cos \lambda} e^{i\lambda} \frac{zf'(z)}{f(z)} - i \frac{\sin \lambda}{\cos \lambda} = \frac{1 + (2c - 1)p(z)}{1 - p(z)}$$

for $z \in D$ and for some λ , $|\lambda| < \frac{\pi}{2}$.

Received September 8, 2020; Accepted January 20, 2021.

2010 *Mathematics Subject Classification*. Primary 30C80, 32A10.

Key words and phrases. Angular derivative, holomorphic function, λ -spirallike function, Schwarz lemma.

Therefore, from (2), we take

$$p(z) = e^{i\lambda} \frac{\frac{zf'(z)}{f(z)} - 1}{e^{i\lambda} \left(\frac{zf'(z)}{f(z)} - 1 \right) + 2c \cos \lambda}.$$

Now let us consider the following function by taking into account of the zeros, which are different from zero, of the function $f(z) - z$.

$$g(z) = \frac{p(z)}{\prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}.$$

Since $g(z) \in \mathcal{M}$, from Schwarz Lemma [6], we obtain

$$\begin{aligned} g(z) &= \frac{p(z)}{\prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}} = e^{i\lambda} \frac{b_2 z + (2b_3 - b_2^2) z^2 + \cdots}{e^{i\lambda} (b_2 z + (2b_3 - b_2^2) z^2 + \cdots) + 2c \cos \lambda} \frac{1}{\prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}, \\ \frac{g(z)}{z} &= e^{i\lambda} \frac{b_2 + (2b_3 - b_2^2) z + \cdots}{e^{i\lambda} (b_2 z + (2b_3 - b_2^2) z^2 + \cdots) + 2c \cos \lambda} \frac{1}{\prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}, \\ |g'(0)| &= \frac{|b_2|}{2|c| \cos \lambda} \frac{1}{\prod_{i=1}^n |z_i|} \leq 1 \end{aligned}$$

and

$$(3) \quad |b_2| \leq 2|c| \cos \lambda \prod_{i=1}^n |z_i|.$$

Now we shall show that the inequality (3) is sharp. Let

$$f(z) = ze^{\int_0^z \frac{2c \cos \lambda \prod_{i=1}^n \frac{t - z_i}{1 - \bar{z}_i t}}{e^{i\lambda} \left(1 - t \prod_{i=1}^n \frac{t - z_i}{1 - \bar{z}_i t} \right)} dt},$$

where z_1, z_2, \dots, z_n are positive real numbers. Using logarithmic differentiation, we obtain

$$\frac{f'(z)}{f(z)} = \frac{1}{z} + \frac{2c \cos \lambda \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}{e^{i\lambda} \left(1 - z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z} \right)}.$$

From the last equality, we have the following

$$m(z) = \frac{zf'(z)}{f(z)} = 1 + \frac{2c \cos \lambda z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}{e^{i\lambda} \left(1 - z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z} \right)}$$

and also,

$$1 + b_2z + (2b_3 - b_2^2)z^2 + \dots = 1 + \frac{2c \cos \lambda z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{e^{i\lambda} \left(1 - z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}\right)},$$

$$b_2z + (2b_3 - b_2^2)z^2 + \dots = \frac{2c \cos \lambda z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{e^{i\lambda} \left(1 - z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}\right)},$$

and

$$|b_2| = 2|c| \cos \lambda \prod_{i=1}^n |z_i|.$$

We thus obtain the following lemma.

Lemma 1.1. *Let $f(z) \in \mathcal{N}(\lambda)$. Let z_1, z_2, \dots, z_n be zeros of the function $f(z) - z$ in D that are different from zero. Then we have*

$$|b_2| \leq 2|c| \cos \lambda \prod_{i=1}^n |z_i|.$$

The result is sharp with the function

$$f(z) = ze^{\int_0^z \frac{2c \cos \lambda \prod_{i=1}^n \frac{t-z_i}{1-\bar{z}_i t}}{e^{i\lambda} \left(1-t \prod_{i=1}^n \frac{t-z_i}{1-\bar{z}_i t}\right)} dt},$$

where z_1, z_2, \dots, z_n are positive real numbers.

One of the elementary results of Schwarz Lemma is the boundary Schwarz Lemma. It is about estimating the modulus of the derivative of the function from below at some boundary point of the unit disc. The boundary version of Schwarz Lemma is given as follows [17]:

If w extends continuously to some boundary point b with $|b| = 1$, and if $|w(b)| = 1$ and $w'(b)$ exists, then

$$(4) \quad |w'(b)| \geq \frac{2}{1 + |w'(0)|}$$

and

$$|w'(b)| \geq 1.$$

For $b = 1$ in (4), the equality occurs for the function

$$w(z) = z \frac{z+a}{1+az},$$

where $0 \leq a \leq 1$. It follows that

$$(5) \quad |w'(b)| \geq 1$$

with equality only if w is of the form $w(z) = ze^{i\theta}$, θ is real.

Vladimir N. Dubinin has continued on this line and has made a refinement on the boundary Schwarz Lemma for $f(z) = c_p z^p + c_{p+1} z^{p+1} + \dots$ with a zero set $\{z_k\}$ [5]. Mercer has obtained a version of Schwarz Lemma where the images of two points are known [10]. Also, he has considered some Schwarz and Carathéodory inequalities at the boundary, as consequences of a lemma due to Rogosinski [11]. M. Jeong has shown some inequalities at a boundary point of the unit disc for different form of holomorphic functions and find the condition for equality [7].

In electrical and electronics engineering, it is possible to encounter applications boundary version of Schwarz lemma. As an example, the driving point impedance functions obtained as a result of boundary analysis of Schwarz lemma can be possibly used for circuit synthesis. Also, transfer functions in control theory and multi-notched filters in signals and systems can be considered as topics under the title of Schwarz lemmas applications [14–16].

For a set of references, we refer the reader to the papers [1, 4, 8, 9, 12, 13, 19] for more general results and related estimates.

For our main results, we shall need the following lemma due to Julia-Wolff [18].

Lemma 1.2 (Julia-Wolff Lemma). *Let w be a holomorphic function in D , $w(0) = 0$ and $w(D) \subset D$. If, in addition, the function w has an angular limit $w(b)$ at $b \in \partial D$, $|w(b)| = 1$, then the angular derivative $w'(b)$ exists and $1 \leq |w'(b)| \leq \infty$.*

Corollary 1.3. *The holomorphic function w has a finite angular derivative $w'(b)$ if and only if w' has the finite angular limit $w'(b)$ at $b \in \partial D$.*

2. Main results

Let the holomorphic function $f(z) = z + b_2 z^2 + b_3 z^3 + \dots$ belong to the class of $\mathcal{N}(\lambda)$. The propose of this paper is to give a different version of Schwarz Lemma for λ -spirallike function with complex order at the boundary of D and estimate the modulus of the angular derivative of the function $\frac{zf'(z)}{f(z)}$.

In the following theorem, we shall estimate the above function from below with the second and third coefficient in Taylor expansion of the function $f(z)$.

Theorem 2.1. *Let $f(z) \in \mathcal{N}(\lambda)$. Let z_1, z_2, \dots, z_n be zeros of the function $f(z) - z$ in D that are different from zero. Assume that, for some $b \in \partial D$, f has angular limit $f(b)$ at b and $\frac{bf'(b)}{f(b)} = 1 - c \frac{\cos \lambda}{e^{i\lambda}}$. Then we have the inequality*

$$(6) \quad \left| \left(\frac{zf'(z)}{f(z)} \right)'_{z=b} \right| \geq \frac{|c| \cos \lambda}{2} \left(1 + \sum_{i=1}^n \frac{1 - |z_i|^2}{|b - z_i|^2} + \frac{2 \left(2|c| \cos \lambda \prod_{i=1}^n |z_i| - |b_2| \right)^2}{\left(2|c| \cos \lambda \prod_{i=1}^n |z_i| \right)^2 - |b_2|^2 + \prod_{i=1}^n |z_i| \left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - |z_i|^2}{z_i} \right|} \right).$$

The equality in (6) occurs for the function

$$f(z) = ze^{-\int_0^z \frac{2c \cos \lambda \left(t \prod_{i=1}^n \frac{t-z_i}{1-\bar{z}_i t} \right)}{e^{i\lambda} \left(1+t^2 \prod_{i=1}^n \frac{t-z_i}{1-\bar{z}_i t} \right)} dt},$$

where z_1, z_2, \dots, z_n are positive real numbers.

Proof. Let $p(z)$ be as in (2) and z_1, z_2, \dots, z_n be zeros of the function $f(z) - z$ in D that are different from zero. Also, consider the following function

$$B(z) = z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}.$$

Here $B(z)$ is holomorphic in D and $|B(z)| < 1$ for $|z| < 1$. By the maximum modulus principle for each $z \in D$, we have

$$|p(z)| \leq |B(z)|.$$

Consider the function

$$\begin{aligned} \varphi(z) &= \frac{p(z)}{B(z)} = e^{i\lambda} \frac{b_2 z + (2b_3 - b_2^2) z^2 + \dots}{e^{i\lambda} (b_2 z + (2b_3 - b_2^2) z^2 + \dots) + 2c \cos \lambda} \frac{1}{z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}} \\ &= e^{i\lambda} \frac{b_2 + (2b_3 - b_2^2) z + \dots}{e^{i\lambda} (b_2 z + (2b_3 - b_2^2) z^2 + \dots) + 2c \cos \lambda} \frac{1}{\prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}. \end{aligned}$$

$\varphi(z)$ is holomorphic in D and $|\varphi(z)| < 1$ for $|z| < 1$. In particular, we have

$$|\varphi(0)| = \frac{|b_2|}{2|c| \cos \lambda \prod_{i=1}^n |z_i|}$$

and

$$|\varphi'(0)| = \frac{\left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1-|z_i|^2}{z_i} \right|}{(2|c| \cos \lambda)^2 \prod_{i=1}^n |z_i|}.$$

The auxiliary function

$$s(z) = \frac{\varphi(z) - \varphi(0)}{1 - \overline{\varphi(0)}\varphi(z)}$$

is holomorphic in D , $|s(z)| < 1$ for $|z| < 1$ and $s(0) = 0$. For $b \in \partial D$ and $\frac{bf'(b)}{f(b)} = 1 - c \frac{\cos \lambda}{e^{i\lambda}}$, we take $|s(b)| = 1$.

From (4), we obtain

$$\frac{2}{1 + |s'(0)|} \leq |s'(b)| = \frac{1 - |\varphi(0)|^2}{\left| 1 - \overline{\varphi(0)}\varphi(b) \right|} |\varphi'(b)|$$

$$\leq \frac{1 + |\varphi(0)|}{1 - |\varphi(0)|} (|p'(b)| - |B'(b)|)$$

and

$$(7) \quad \frac{2}{1 + |s'(0)|} \leq \frac{1 + |\varphi(0)|}{1 - |\varphi(0)|} (|p'(b)| - |B'(b)|).$$

It can be seen that

$$|s'(0)| = \frac{|\varphi'(0)|}{1 - |\varphi(0)|^2}$$

and

$$\begin{aligned} |s'(0)| &= \frac{\left| \frac{(2b_3 - b_2^2)2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - |z_i|^2}{z_i}}{(2|c| \cos \lambda)^2 \prod_{i=1}^n |z_i|} \right|}{1 - \left(\frac{|b_2|}{2|c| \cos \lambda \prod_{i=1}^n |z_i|} \right)^2} \\ &= \prod_{i=1}^n |z_i| \frac{\left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - |z_i|^2}{z_i} \right|}{\left(2|c| \cos \lambda \prod_{i=1}^n |z_i| \right)^2 - |b_2|^2}. \end{aligned}$$

Also, we have

$$|B'(b)| = 1 + \sum_{i=1}^n \frac{1 - |z_i|^2}{|b - z_i|^2}, \quad b \in \partial D.$$

Let us substitute the values of $|s'(0)|$, $|p'(b)|$, $|B'(b)|$ and $|\varphi(0)|$ into (7). Therefore, we get

$$\begin{aligned} & \frac{2}{1 + \frac{\prod_{i=1}^n |z_i| \left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - |z_i|^2}{z_i} \right|}{\left(2|c| \cos \lambda \prod_{i=1}^n |z_i| \right)^2 - |b_2|^2}} \\ & \leq \frac{2|c| \cos \lambda \prod_{i=1}^n |z_i| + |b_2|}{2|c| \cos \lambda \prod_{i=1}^n |z_i| - |b_2|} \left(\frac{2|m'(b)|}{|c| \cos \lambda} - 1 - \sum_{i=1}^n \frac{1 - |z_i|^2}{|b - z_i|^2} \right), \\ & \frac{2 \left(\left(2|c| \cos \lambda \prod_{i=1}^n |z_i| \right)^2 - |b_2|^2 \right)}{\left(2|c| \cos \lambda \prod_{i=1}^n |z_i| \right)^2 - |b_2|^2 + \prod_{i=1}^n |z_i| \left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - |z_i|^2}{z_i} \right|} \\ & \leq \frac{2|c| \cos \lambda \prod_{i=1}^n |z_i| + |b_2|}{2|c| \cos \lambda \prod_{i=1}^n |z_i| - |b_2|} \left(\frac{2|m'(b)|}{|c| \cos \lambda} - 1 - \sum_{i=1}^n \frac{1 - |z_i|^2}{|b - z_i|^2} \right), \end{aligned}$$

$$\begin{aligned} & \frac{2\left(2|c| \cos \lambda \prod_{i=1}^n |z_i| - |b_2|\right)^2}{\left(2|c| \cos \lambda \prod_{i=1}^n |z_i|\right)^2 - |b_2|^2 + \prod_{i=1}^n |z_i| \left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - |z_i|^2}{z_i} \right|} \\ & \leq \frac{2|m'(b)|}{|c| \cos \lambda} - 1 - \sum_{i=1}^n \frac{1 - |z_i|^2}{|b - z_i|^2} \end{aligned}$$

and so, we get the inequality (6).

Now we shall show that the inequality (6) is sharp. Let

$$(8) \quad f(z) = z e^{-\int_0^z \frac{2c \cos \lambda \left(t \prod_{i=1}^n \frac{t - z_i}{1 - \overline{z_i} t} \right)}{e^{i\lambda} \left(1 + t^2 \prod_{i=1}^n \frac{t - z_i}{1 - \overline{z_i} t} \right)} dt}.$$

Differentiating (8) logarithmically, we obtain

$$\begin{aligned} \frac{f'(z)}{f(z)} &= \frac{1}{z} - \frac{2c \cos \lambda \left(z \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z} \right)}{e^{i\lambda} \left(1 + z^2 \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z} \right)}, \\ m(z) = \frac{zf'(z)}{f(z)} &= 1 - \frac{2c \cos \lambda \left(z^2 \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z} \right)}{e^{i\lambda} \left(1 + z^2 \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z} \right)} \\ &= 1 - \frac{2c \cos \lambda}{e^{i\lambda}} \left(1 - \frac{1}{1 + z^2 \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z}} \right) \end{aligned}$$

and

$$m(z) = 1 - \frac{2c \cos \lambda}{e^{i\lambda}} \left(1 - \frac{1}{1 + z^2 \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z}} \right).$$

After simple calculations, we get

$$|m'(1)| = \frac{|c| \cos \lambda}{2} \left(2 + \sum_{i=1}^n \frac{1 - z_i}{1 + z_i} \right).$$

On the other hand, we obtain

$$1 + b_2 z + (2b_3 - b_2^2) z^2 + \dots = 1 - \frac{2c \cos \lambda}{e^{i\lambda}} \left(1 - \frac{1}{1 + z^2 \prod_{i=1}^n \frac{z - z_i}{1 - \overline{z_i} z}} \right),$$

$$b_2 z + (2b_3 - b_2^2) z^2 + \dots = -\frac{2c \cos \lambda}{e^{i\lambda}} \left(\frac{z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{1 + z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}} \right)$$

and

$$b_2 + (2b_3 - b_2^2) z + \dots = -\frac{2c \cos \lambda}{e^{i\lambda}} \left(\frac{z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{1 + z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}} \right).$$

Passing to the limit as z tends to 0 in the last equality, we find $b_2 = 0$. Similarly, using straightforward calculations, we take $|2b_3 - b_2^2| = 2|c| \cos \lambda \prod_{i=1}^n |z_i|$. If we regard the right-hand side of the inequality (6), for $b = -1$, we get

$$\begin{aligned} & \frac{|c| \cos \lambda}{2} \left(1 + \sum_{i=1}^n \frac{1 - z_i^2}{(-1 - z_i)^2} \right. \\ & \quad \left. + \frac{2 \left(2|c| \cos \lambda \prod_{i=1}^n z_i - |b_2| \right)^2}{\left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2 - |b_2|^2 + \prod_{i=1}^n z_i \left| (2b_3 - b_2^2) 2c \cos \lambda - e^{i\lambda} b_2^2 + 2c \cos \lambda b_2 \sum_{i=1}^n \frac{1 - z_i^2}{z_i} \right|} \right) \\ &= \frac{|c| \cos \lambda}{2} \left(1 + \sum_{i=1}^n \frac{1 - z_i^2}{(-1 - z_i)^2} + \frac{2 \left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2}{\left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2 + \left| (2b_3 - b_2^2) 2c \cos \lambda \prod_{i=1}^n z_i \right|} \right) \\ &= \frac{|c| \cos \lambda}{2} \left(1 + \sum_{i=1}^n \frac{1 - z_i^2}{(-1 - z_i)^2} + \frac{2 \left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2}{\left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2 + \left(2|c| \cos \lambda \prod_{i=1}^n z_i \right) \left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)} \right) \\ &= \frac{|c| \cos \lambda}{2} \left(1 + \sum_{i=1}^n \frac{1 - z_i^2}{(-1 - z_i)^2} + \frac{2 \left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2}{2 \left(2|c| \cos \lambda \prod_{i=1}^n z_i \right)^2} \right) \\ &= \frac{|c| \cos \lambda}{2} \left(2 + \sum_{i=1}^n \frac{1 - z_i}{1 + z_i} \right), \end{aligned}$$

where $z_i, i = 1, 2, \dots, n$ are positive real numbers. □

Now we shall estimate the modulus of the angular derivative of the function $\frac{zf'(z)}{f(z)}$ from below according to the second Taylor coefficients of f about $z = 0$ and $z = z_0 \neq 0$. Motivated by the results of the work presented in [3], the following result is obtained.

Theorem 2.2. *If $f(z) \in \mathcal{N}(\lambda)$ and $\frac{z_0 f'(z_0)}{f(z_0)} = 1$ for $0 < |z_0| < 1$. Suppose that, for some $b \in \partial D$, f has an angular limit $f(b)$ at b , $\frac{b f'(b)}{f(b)} = 1 - c \frac{\cos \lambda}{e^{i\lambda}}$.*

Then we have the following inequality

$$(9) \quad \left| \left(\frac{zf'(z)}{f(z)} \right)' \right|_{z=b} \geq \frac{|c| \cos \lambda}{2} \left(1 + \frac{1-|z_0|^2}{|b-z_0|^2} + \frac{4|c| \cos \lambda |z_0| - |f''(0)|}{4|c| \cos \lambda |z_0| + |f''(0)|} \right) \\ \times \left[1 + \frac{8|c|^2 \cos^2 \lambda |z_0|^2 + |f''(z_0)| |f''(0)| (1-|z_0|^2) - 4|c| \cos \lambda |f''(z_0)| (1-|z_0|^2) - 4|c| \cos \lambda |f''(0)| \frac{1-|z_0|^2}{|b-z_0|^2}}{8|c|^2 \cos^2 \lambda |z_0|^2 + |f''(z_0)| |f''(0)| (1-|z_0|^2) + 4|c| \cos \lambda |f''(z_0)| (1-|z_0|^2) + 4|c| \cos \lambda |f''(0)| \frac{1-|z_0|^2}{|b-z_0|^2}} \right].$$

The inequality (9) is sharp, with equality for each possible value of $|f''(0)|$ and $|f''(z_0)|$.

Proof. Let

$$\rho(z) = \frac{z - z_0}{1 - \overline{z_0}z}.$$

In addition, let $F : D \rightarrow D$ be an holomorphic function and $z_0 \in D$ such that

$$\left| \frac{F(z) - F(z_0)}{1 - \overline{F(z_0)}F(z)} \right| \leq \left| \frac{z - z_0}{1 - \overline{z_0}z} \right| = |\rho(z)|$$

and

$$(10) \quad |F(z)| \leq \frac{|F(z_0)| + |\rho(z)|}{1 + |F(z_0)| |\rho(z)|}$$

by Schwarz-Pick Lemma [6]. If $k : D \rightarrow D$ is a holomorphic function and $0 < |z_0| < 1$, letting

$$F(z) = \frac{k(z) - k(0)}{z \left(1 - \overline{k(0)}k(z) \right)}$$

in (10), we obtain

$$\left| \frac{k(z) - k(0)}{z \left(1 - \overline{k(0)}k(z) \right)} \right| \leq \frac{\left| \frac{k(z_0) - k(0)}{z_0 (1 - \overline{k(0)}k(z_0))} \right| + |\rho(z)|}{1 + \left| \frac{k(z_0) - k(0)}{z_0 (1 - \overline{k(0)}k(z_0))} \right| |\rho(z)|}$$

and

$$(11) \quad |k(z)| \leq \frac{|k(0)| + |z| \frac{|C| + |\rho(z)|}{1 + |C| |\rho(z)|}}{1 + |k(0)| |z| \frac{|C| + |\rho(z)|}{1 + |C| |\rho(z)|}},$$

where

$$C = \frac{k(z_0) - k(0)}{z_0 \left(1 - \overline{k(0)}k(z_0) \right)}.$$

Without loss of generality, we will assume that $b = 1$. If we take

$$k(z) = \frac{p(z)}{z \left(\frac{z - z_0}{1 - \overline{z_0}z} \right)},$$

then

$$k(0) = \frac{p'(0)}{-z_0}, \quad k(z_0) = \frac{p'(z_0)(1 - |z_0|^2)}{z_0}$$

and

$$C = \frac{\frac{p'(z_0)(1 - |z_0|^2)}{z_0} + \frac{p'(0)}{z_0}}{z_0 \left(1 + \frac{p'(0)}{z_0} \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right)},$$

where $|C| \leq 1$. Let $|k(0)| = \beta$ and

$$A = \frac{\left| \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right| + \left| \frac{p'(0)}{z_0} \right|}{|z_0| \left(1 + \left| \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right| \left| \frac{p'(0)}{z_0} \right| \right)}.$$

From (11), we get

$$|p(z)| \leq |z| |\rho(z)| \frac{\beta + |z| \frac{A + |\rho(z)|}{1 + A|\rho(z)|}}{1 + \beta |z| \frac{A + |\rho(z)|}{1 + A|\rho(z)|}}$$

and

$$\frac{1 - |p(z)|}{1 - |z|} \geq \frac{1 + \beta |z| \frac{A + |\rho(z)|}{1 + A|\rho(z)|} - \beta |z| |\rho(z)| - |\rho(z)| |z|^2 \frac{A + |\rho(z)|}{1 + A|\rho(z)|}}{(1 - |z|) \left(1 + \beta |z| \frac{A + |\rho(z)|}{1 + A|\rho(z)|} \right)}.$$

Let $\kappa(z) = 1 + \beta |z| \frac{A + |\rho(z)|}{1 + A|\rho(z)|}$ and $\tau(z) = 1 + A|\rho(z)|$. Therefore, we obtain

$$(12) \quad \frac{1 - |p(z)|}{1 - |z|} \geq \frac{1}{\kappa(z)\tau(z)} \left\{ \frac{1 - |z|^2 |\rho(z)|^2}{1 - |z|} + A|\rho(z)| \frac{1 - |z|^2}{1 - |z|} + \beta |z| A \frac{1 - |\rho(z)|^2}{1 - |z|} \right\}.$$

Since

$$\lim_{z \rightarrow 1} \kappa(z) = \lim_{z \rightarrow 1} \left(1 + \beta |z| \frac{A + |\rho(z)|}{1 + A|\rho(z)|} \right) = 1 + \beta,$$

$$\lim_{z \rightarrow 1} \tau(z) = \lim_{z \rightarrow 1} (1 + A|\rho(z)|) = 1 + A,$$

$$\lim_{z \rightarrow 1} \frac{1 - |z|^i \left| \frac{z - z_0}{1 - \bar{z}_0 z} \right|^j}{1 - |z|} = i + j \frac{1 - |z_0|^2}{|1 - \bar{z}_0 z|^2}$$

for non-negative integers i and j and

$$1 - |\rho(z)|^2 = 1 - \left| \frac{z - z_0}{1 - \bar{z}_0 z} \right|^2 = \frac{(1 - |z_0|^2)(1 - |z|^2)}{|1 - \bar{z}_0 z|^2},$$

passing to the angular limit in (12) gives

$$|p'(1)| \geq 1 + \frac{1 - |z_0|^2}{|1 - z_0|^2} + \frac{1 - \beta}{1 + \beta} \left[1 + \frac{1 - A}{1 + A} \frac{1 - |z_0|^2}{|1 - z_0|^2} \right].$$

Moreover, since

$$\frac{1 - \beta}{1 + \beta} = \frac{1 - |k(0)|}{1 + |k(0)|} = \frac{1 - \left| \frac{p'(0)}{z_0} \right|}{1 + \left| \frac{p'(0)}{z_0} \right|} = \frac{|z_0| - |p'(0)|}{|z_0| + |p'(0)|} = \frac{2|c| \cos \lambda |z_0| - |b_2|}{2|c| \cos \lambda |z_0| + |b_2|},$$

$$\frac{1 - A}{1 + A} = \frac{1 - \frac{\left| \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right| + \left| \frac{p'(0)}{z_0} \right|}{|z_0| \left(1 + \frac{\left| \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right| \left| \frac{p'(0)}{z_0} \right| \right)}}{1 + \frac{\left| \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right| + \left| \frac{p'(0)}{z_0} \right|}{|z_0| \left(1 + \frac{\left| \frac{p'(z_0)(1 - |z_0|^2)}{z_0} \right| \left| \frac{p'(0)}{z_0} \right| \right)}}$$

and

$$\frac{1 - A}{1 + A} = \frac{|z_0|^2 + |p'(z_0)| \left(1 - |z_0|^2 \right) |p'(0)| - |p'(z_0)| \left(1 - |z_0|^2 \right) - |p'(0)|}{|z_0|^2 + |\phi'(z_0)| \left(1 - |z_0|^2 \right) |p'(0)| + |p'(z_0)| \left(1 - |z_0|^2 \right) + |p'(0)|},$$

we obtain

$$|p'(1)| \geq 1 + \frac{1 - |z_0|^2}{|1 - z_0|^2} + \frac{4|c| \cos \lambda |z_0| - |f''(0)|}{4|c| \cos \lambda |z_0| + |f''(0)|} \\ \times \left[1 + \frac{8|c|^2 \cos^2 \lambda |z_0|^2 + |f''(z_0)| |f''(0)| \left(1 - |z_0|^2 \right) - 4|c| \cos \lambda |f''(z_0)| \left(1 - |z_0|^2 \right) - 4|c| \cos \lambda |f''(0)| \frac{1 - |z_0|^2}{|1 - z_0|^2}}{8|c|^2 \cos^2 \lambda |z_0|^2 + |f''(z_0)| |f''(0)| \left(1 - |z_0|^2 \right) + 4|c| \cos \lambda |f''(z_0)| \left(1 - |z_0|^2 \right) + 4|c| \cos \lambda |f''(0)| \frac{1 - |z_0|^2}{|1 - z_0|^2}} \right].$$

From definition of $p(z)$, we have

$$|p'(1)| = \frac{2|m'(1)|}{|c| \cos \lambda}.$$

We thus take the inequality (9).

Choose arbitrary real numbers z_0 , x and y such that $0 < x = |p'(0)| < |z_0|^2$, $0 < y = |p'(z_0)| < \frac{|z_0|^2}{(1 - |z_0|^2)^2}$ in order to show that the inequality (9) is sharp.

Let

$$B = \frac{1}{z_0^2} \frac{y \left(1 - |z_0|^2 \right) + x}{1 + xy \frac{1 - |z_0|^2}{z_0^2}}.$$

The auxiliary function

$$(13) \quad p(z) = z \left(\frac{z - z_0}{1 - \bar{z}_0 z} \right) \frac{-\frac{x}{z_0} + z \frac{B + \frac{z - z_0}{1 - \bar{z}_0 z}}{1 + B \frac{z - z_0}{1 - \bar{z}_0 z}}}{1 - \frac{x}{z_0} z \frac{B + \frac{z - z_0}{1 - \bar{z}_0 z}}{1 + B \frac{z - z_0}{1 - \bar{z}_0 z}}}.$$

From (13), with the simple calculations, we obtain

$$p'(0) = x, \quad p'(z_0) = y$$

and

$$p'(1) = 1 + \frac{1 - z_0^2}{(1 - z_0)^2} + \frac{z_0 + x}{z_0 - x} \left(1 + \frac{1 - z_0^2}{(1 - z_0)^2} \frac{z_0^2 + xy(1 - |z_0|^2) - y(1 - |z_0|^2) - x}{z_0^2 + xy(1 - |z_0|^2) + y(1 - |z_0|^2) + x} \right).$$

Choosing suitable signs of the numbers z_0, x and y , we conclude from the last equality that the inequality (9) is sharp. □

3. Examples

The examples given below are shown to provide the conditions of Lemma 1.1 and Theorem 2.1.

Example 3.1. Let us consider a function $f(z)$ given by

$$f(z) = ze^{\int_0^z \frac{2c \cos \lambda \prod_{i=1}^n \frac{t - z_i}{1 - \bar{z}_i t}}{e^{i\lambda} \left(1 - t \prod_{i=1}^n \frac{t - z_i}{1 - \bar{z}_i t} \right)} dt}.$$

With logarithmic differentiation, we get

$$\frac{zf'(z)}{f(z)} = 1 + \frac{2c \cos \lambda z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}{e^{i\lambda} \left(1 - z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z} \right)}.$$

By using the last equality, we obtain

$$\begin{aligned} & \frac{1}{c \cos \lambda} \left[e^{i\lambda} \frac{zf'(z)}{f(z)} - (1 - c) \cos \lambda - i \sin \lambda \right] \\ &= \frac{1}{c \cos \lambda} \left[e^{i\lambda} \left(1 + \frac{2c \cos \lambda z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}{e^{i\lambda} \left(1 - z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z} \right)} \right) - (1 - c) \cos \lambda - i \sin \lambda \right] \\ &= \frac{1}{c \cos \lambda} \left[e^{i\lambda} + \frac{2c \cos \lambda z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z}}{\left(1 - z \prod_{i=1}^n \frac{z - z_i}{1 - \bar{z}_i z} \right)} - e^{i\lambda} + c \cos \lambda \right] \end{aligned}$$

$$= \frac{1}{c \cos \lambda} \left[\frac{2c \cos \lambda z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{\left(1 - z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}\right)} + c \cos \lambda \right]$$

and, thus,

$$(14) \quad \frac{1}{c \cos \lambda} \left[e^{i\lambda} \frac{z f'(z)}{f(z)} - (1-c) \cos \lambda - i \sin \lambda \right] = \frac{1 + z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{1 - z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}.$$

If we take the real part of (14), then we have

$$\Re \left(\frac{1 + z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{1 - z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}} \right) = \frac{1 - \left| z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z} \right|^2}{\left| 1 - z \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z} \right|^2} > 0.$$

Example 3.2. Let us consider a function $f(z)$ given by

$$f(z) = z e^{-\int_0^z \frac{2c \cos \lambda \left(t \prod_{i=1}^n \frac{t-z_i}{1-\bar{z}_i t} \right)}{e^{i\lambda} \left(1+t^2 \prod_{i=1}^n \frac{t-z_i}{1-\bar{z}_i t} \right)} dt}.$$

By logarithmic differentiation, we get

$$(15) \quad \frac{z f'(z)}{f(z)} = 1 - \frac{2c \cos \lambda \left(z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z} \right)}{e^{i\lambda} \left(1 + z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z} \right)}.$$

With (15), we get

$$\frac{1}{c \cos \lambda} \left[e^{i\lambda} \frac{z f'(z)}{f(z)} - (1-c) \cos \lambda - i \sin \lambda \right] = \frac{1 - z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{1 + z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}$$

and, thus,

$$\Re \left(\frac{1 - z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}}{1 + z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z}} \right) = \frac{1 - \left| z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z} \right|^2}{\left| 1 + z^2 \prod_{i=1}^n \frac{z-z_i}{1-\bar{z}_i z} \right|^2} > 0.$$

The example given below has been shown to provide the conditions of Theorem 2.2.

Example 3.3. Let us consider a function $p(z)$ given by

$$p(z) = z \left(\frac{z - z_0}{1 - \bar{z}_0 z} \right) \frac{-\frac{x}{z_0} + z \frac{B + \frac{z - z_0}{1 - \bar{z}_0 z}}{1 + B \frac{z - z_0}{1 - \bar{z}_0 z}}}{1 - \frac{x}{z_0} z \frac{B + \frac{z - z_0}{1 - \bar{z}_0 z}}{1 + B \frac{z - z_0}{1 - \bar{z}_0 z}}},$$

where

$$p(z) = e^{i\lambda} \frac{m(z) - 1}{e^{i\lambda} (m(z) - 1) + 2c \cos \lambda}, \quad m(z) = \frac{zf'(z)}{f(z)}.$$

Hence, we get

$$m(z) = \frac{e^{i\lambda} (1 - p(z)) + 2c \cos \lambda p(z)}{e^{i\lambda} (1 - p(z))} = 1 + \frac{2c \cos \lambda p(z)}{e^{i\lambda} (1 - p(z))}.$$

Thus,

$$(16) \quad \frac{1}{c \cos \lambda} \left[e^{i\lambda} \frac{zf'(z)}{f(z)} - (1 - c) \cos \lambda - i \sin \lambda \right] = \frac{1 + p(z)}{1 - p(z)}.$$

Consequently, we obtain that the real part of (16) is positive because of the following

$$\Re \left(\frac{1 + p(z)}{1 - p(z)} \right) = \frac{1 - |p(z)|^2}{|1 - p(z)|^2} > 0.$$

References

- [1] T. Akyel and B. Örneke, *Sharpened forms for λ -spirallike function of complex order on the boundary*, AIP Conference Proceedings of the Fourth International Conference of Mathematical Sciences (ICMS 2020), In press.
- [2] F. M. Al-Oboudi and M. M. Haidan, *Spirallike functions of complex order*, J. Nat. Geom. **19** (2001), no. 1-2, 53–72.
- [3] T. Aliyev Azeroglu and B. N. Örneke, *A refined Schwarz inequality on the boundary*, Complex Var. Elliptic Equ. **58** (2013), no. 4, 571–577. <https://doi.org/10.1080/17476933.2012.718338>
- [4] H. P. Boas, *Julius and Julia: mastering the art of the Schwarz lemma*, Amer. Math. Monthly **117** (2010), no. 9, 770–785. <https://doi.org/10.4169/000298910X521643>
- [5] V. N. Dubinin, *The Schwarz inequality on the boundary for functions regular in the disc*, J. Math. Sci. (N.Y.) **122** (2004), no. 6, 3623–3629; translated from Zap. Nauchn. Sem. S.-Peterburg. Otdel. Mat. Inst. Steklov. (POMI) **286** (2002), Anal. Teor. Chisel i Teor. Funkts. 18, 74–84, 228–229. <https://doi.org/10.1023/B:J0TH.0000035237.43977.39>
- [6] G. M. Goluzin, *Geometrical theory of functions of a complex variable*, Gosudarstv. Izdat. Tehn.-Teor. Lit., Moscow, 1952.
- [7] M. Jeong, *The Schwarz lemma and boundary fixed points*, J. Korean Soc. Math. Educ. Ser. B Pure Appl. Math. **18** (2011), no. 3, 275–284. <https://doi.org/10.7468/jksmeb.2011.18.3.275>
- [8] M. Mateljević, *The lower bound for the modulus of the derivatives and Jacobian of harmonic injective mappings*, Filomat **29** (2015), no. 2, 221–244. <https://doi.org/10.2298/FIL1502221M>
- [9] M. Mateljević, N. Mutavdžić, and B. N. Örneke, *Note on some classes of holomorphic functions related to Jack's and Schwarz's lemma*, <https://doi.org/10.13140/RG.2.2.25744.15369>

- [10] P. R. Mercer, *Sharpened versions of the Schwarz lemma*, J. Math. Anal. Appl. **205** (1997), no. 2, 508–511. <https://doi.org/10.1006/jmaa.1997.5217>
- [11] ———, *Boundary Schwarz inequalities arising from Rogosinski's lemma*, J. Class. Anal. **12** (2018), no. 2, 93–97. <https://doi.org/10.7153/jca-2018-12-08>
- [12] B. N. Örnek, *Inequalities for the non-tangential derivative at the boundary for holomorphic function*, Commun. Korean Math. Soc. **29** (2014), no. 3, 439–449. <https://doi.org/10.4134/CKMS.2014.29.3.439>
- [13] ———, *A sharp Carathéodory's inequality on the boundary*, Commun. Korean Math. Soc. **31** (2016), no. 3, 533–547. <https://doi.org/10.4134/CKMS.c150194>
- [14] B. N. Örnek and T. Düzenli, *Bound estimates for the derivative of driving point impedance functions*, Filomat **32** (2018), no. 18, 6211–6218. <https://doi.org/10.2298/fil1818211o>
- [15] ———, *Boundary analysis for the derivative of driving point impedance functions*, IEEE Transactions on Circuits and Systems II: Express Briefs. **65** (2018), 1149–1153.
- [16] ———, *On boundary analysis for derivative of driving point impedance functions and its circuit applications*, IET Circuits, Systems and Devices **13** (2019), 145–152.
- [17] R. Osserman, *A sharp Schwarz inequality on the boundary*, Proc. Amer. Math. Soc. **128** (2000), no. 12, 3513–3517. <https://doi.org/10.1090/S0002-9939-00-05463-0>
- [18] Ch. Pommerenke, *Boundary behaviour of conformal maps*, Grundlehren der Mathematischen Wissenschaften, 299, Springer-Verlag, Berlin, 1992. <https://doi.org/10.1007/978-3-662-02770-7>
- [19] D. Shoikhet, M. Elin, F. Jacobzon, and M. Levenshtein, *The Schwarz Lemma: Rigidity and Dynamics, Harmonic and Complex Analysis and its Applications*, Springer International Publishing, 2014.

TUĞBA AKYEL
THE FACULTY OF ENGINEERING AND NATURAL SCIENCES
MALTEPE UNIVERSITY
MALTEPE, ISTANBUL, TURKEY
Email address: tugakyel@gmail.com, tugbaakyel@maltepe.edu.tr